Question 1 

Top of Form 1

&&&[image: image1.wmf] [image: image2.wmf][image: image3.wmf][image: image4.wmf][image: image5.wmf]WACKO Ltd. has $40 million in debt, equity of $65 million, an after-tax cost of debt of 5 percent, a cost of equity of 8 percent, and a tax rate of 30 percent. The firm's weighted average cost of capital (WACC) is
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	a.
	4.80% 
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	b.
	6.29% 
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	c.
	5.37% 
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	d.
	6.86% 
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	e.
	none of the above 
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Bottom of Form 1
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Bottom of Form 2
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Bottom of Form 4
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Bottom of Form 6
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Bottom of Form 7
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Bottom of Form 8
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Bottom of Form 9

Question 10 

Top of Form 10

&&&[image: image23.wmf] [image: image24.wmf][image: image25.wmf][image: image26.wmf][image: image27.wmf]Your firm has annual fixed costs of $100,000, a selling price of $12 per widget, variable costs of $5 per widget, and it annually allocates $20,000 to administrative overhead for reporting purposes. Calculate the break-even point.
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	a.
	8,333.33 widget 
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	b.
	14,285.71 widgets 
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	c.
	20,000 widgets 

	[image: image32.wmf]
	d.
	$14,285.71 
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	e.
	$20,000 
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Bottom of Form 10
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Bottom of Form 13
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Bottom of Form 16
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Top of Form 17

&&&[image: image39.wmf] [image: image40.wmf][image: image41.wmf][image: image42.wmf][image: image43.wmf]Two mutually exclusive projects offer the following cash flows at years 0, and 1:


	Project 
	0
	1

	X 
	–200
	600

	Y
	–10,200
	11,250

	
	
	



Calculate an incremental IRR of doing project Y and on that basis decide which project is preferable if the appropriate hurdle rate for each project is 7%.
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	a.
	incremental IRR = 6.50% so that project X should be done 
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	b.
	incremental IRR = 6.50% so that project Y should be done 
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	c.
	incremental IRR = 10.29% so that project X should be done 
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	d.
	incremental IRR = 10.29% so that project Y should be done 
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	e.
	incremental IRR = 1.82% so that project X should be done 
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